
8926 446 01001;3     HD AMU FISHER

Ref Description Part 12nc Service part

1 HD AMU BASIC 3922 407 48021 Yes
2 RF AMPLIFIER ASSY 46072231AA Yes
4 AERIAL SUPPORT ASSEMBLY 46072187AB Yes
5 CABLE ASSY AMU AERIAL 3 COAX 16832179AA Yes
6 CABLE ASSY AMU AERIAL 16832218AB Yes
7 PACKAGING WIRELESS ANT.UNIT
8 PAN SCR STL ST M6X10 2522 201 08075 Yes
10 FILTER CLAMP 3922 407 52721 Yes
50 TYPE PLATE GRASS VALLEY/CE
130 KIT. ENSEMBLE TRIAX 47233204CA Yes

753T PAN SCR STL ST M4X10 2522 201 08049 Yes
767 SPR WASH STL ST 4,1X7,1 2522 613 12009 Yes

CAB1 CABLE RF DATA EMITTER/BOOSTER 16832312AA Yes

page: 1 - 1 3/18/2008



8926 446 02001;3     HD AMU TRILOCK

Ref Description Part 12nc Service part

1 HD AMU BASIC 3922 407 48021 Yes
2 RF AMPLIFIER ASSY 46072231AA Yes
4 AERIAL SUPPORT ASSEMBLY 46072187AB Yes
5 CABLE ASSY AMU AERIAL 3 COAX 16832179AA Yes
6 CABLE ASSY AMU AERIAL 16832218AB Yes
7 PACKAGING WIRELESS ANT.UNIT
8 PAN SCR STL ST M6X10 2522 201 08075 Yes
10 FILTER CLAMP 3922 407 52721 Yes
50 TYPE PLATE GRASS VALLEY/CE
130 KIT. ENSEMBLE TRIAX KING 47233204DA Yes

753T PAN SCR STL ST M4X10 2522 201 08049 Yes
767 SPR WASH STL ST 4,1X7,1 2522 613 12009 Yes

CAB1 CABLE RF DATA EMITTER/BOOSTER 16832312AA Yes

page: 1 - 1 3/18/2008



8926 446 03001;3     HD AMU ARD

Ref Description Part 12nc Service part

1 HD AMU BASIC 3922 407 48021 Yes
2 RF AMPLIFIER ASSY 46072231AA Yes
4 AERIAL SUPPORT ASSEMBLY 46072187AB Yes
5 CABLE ASSY AMU AERIAL 3 COAX 16832179AA Yes
6 CABLE ASSY AMU AERIAL 16832218AB Yes
7 PACKAGING WIRELESS ANT.UNIT
8 PAN SCR STL ST M6X10 2522 201 08075 Yes
10 FILTER CLAMP 3922 407 52721 Yes
50 TYPE PLATE GRASS VALLEY/CE
130 TRIAX ADAPTER D&H MALE 47233992AA Yes

753T PAN SCR STL ST M4X10 2522 201 08049 Yes
767 SPR WASH STL ST 4,1X7,1 2522 613 12009 Yes

CAB1 CABLE RF DATA EMITTER/BOOSTER 16832312AA Yes

page: 1 - 1 3/18/2008



8926 446 04001;3     HD AMU LEMO 4

Ref Description Part 12nc Service part

1 HD AMU BASIC 3922 407 48021 Yes
2 RF AMPLIFIER ASSY 46072231AA Yes
4 AERIAL SUPPORT ASSEMBLY 46072187AB Yes
5 CABLE ASSY AMU AERIAL 3 COAX 16832179AA Yes
6 CABLE ASSY AMU AERIAL 16832218AB Yes
7 PACKAGING WIRELESS ANT.UNIT
8 PAN SCR STL ST M6X10 2522 201 08075 Yes
10 FILTER CLAMP 3922 407 52721 Yes
50 TYPE PLATE GRASS VALLEY/CE
130 KIT. ENSEBLE TRIAX LEMO 47233203HA Yes

753T PAN SCR STL ST M4X10 2522 201 08049 Yes
767 SPR WASH STL ST 4,1X7,1 2522 613 12009 Yes

CAB1 CABLE RF DATA EMITTER/BOOSTER 16832312AA Yes

page: 1 - 1 3/18/2008



8926 446 05001;3     HD AMU BBC LEMO

Ref Description Part 12nc Service part

1 HD AMU BASIC 3922 406 45021 Yes
2 RF AMPLIFIER ASSY 46072231AA Yes
4 AERIAL SUPPORT ASSEMBLY 46072187AB Yes
5 CABLE ASSY AMU AERIAL 3 COAX 16832179AA Yes
6 CABLE ASSY AMU AERIAL 16832218AB Yes
7 PACKAGING WIRELESS ANT.UNIT
8 PAN SCR STL ST M6X10 2522 201 08075 Yes
10 FILTER CLAMP 3922 407 52721 Yes
50 TYPE PLATE GRASS VALLEY/CE
130 KIT. ENSEMBLE TRIAX LEMO 47233204BA Yes

753T PAN SCR STL ST M4X10 2522 201 08049 Yes
767 SPR WASH STL ST 4,1X7,1 2522 613 12009 Yes

CAB1 CABLE RF DATA EMITTER/BOOSTER 16832312AA Yes

page: 1 - 1 3/18/2008



8926 446 06001;3     HD AMU LEMO 3

Ref Description Part 12nc Service part

1 HD AMU BASIC 3922 407 45021 Yes
2 RF AMPLIFIER ASSY 46072231AA Yes
4 AERIAL SUPPORT ASSEMBLY 46072187AB Yes
5 CABLE ASSY AMU AERIAL 3 COAX 16832179AA Yes
6 CABLE ASSY AMU AERIAL 16832218AB Yes
7 PACKAGING WIRELESS ANT.UNIT
8 PAN SCR STL ST M6X10 2522 201 08075 Yes
10 FILTER CLAMP 3922 407 52721 Yes
50 TYPE PLATE GRASS VALLEY/CE
130 KIT. ENSEMBLE TRIAX 47233203AA Yes

753T PAN SCR STL ST M4X10 2522 201 08049 Yes
767 SPR WASH STL ST 4,1X7,1 2522 613 12009 Yes

CAB1 CABLE RF DATA EMITTER/BOOSTER 16832312AA Yes

page: 1 - 1 3/18/2008


